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ªಂøÁøħ «øÁø øøŇ²øøøã?” ªಂø ·øĮ øøãÆø øãøÁø.
“¤ø øÎø £Ãø. ÃÃŐ °øŇøÊ øÍøĩ 10 ²ಂøøಂÁ 6 ²ಂøÎøø ¥

øಂÁø øøĮøಂÁ 38 ø.øã. øÊøøÎ ¢ÎÃ £øãøÃøŃøŎø. ¢Áøħ ¢ÎÃ
£øãøÃ øŀøã·ø øø Ñøãøŀãø²ø øøŇøøøŎø. øø ø·ø
ÄŁø¾ Ä¿Ł ¤ø. 6 ²ಂøÉ Ãಂ¿Ê ¢ÎÊ £øãøÃ ÒøŌÊÁøŃøã ¤øÎ
øøÃøŃ øøŁ 9 ²ಂøÉÎøø ¤øŎø” ªಂÁø øÉø.
£² Ñøāø ÎøãÌø “¤Îø £Ãø, øøÃøŃ øøøø ·Ã ¤øøŌø.

¤Îø ¢øŃø ªಂøÁøħ øøø øøøÎÎø øø? ¤ÁøŐ ÃಂøÎ
øøŇøø Äø²øÑøÊø ªಂø øãøøøńøŌãø” ªಂÁø.
“ ÑŅÌő ¤ø Ñøāø ÎøãÌøã... ¤Îø £ ÑÈÉÁøŃ £øøÃøŃø ªಂøÁøŐ

°øŋø øãøÁ ªಂø ÒøŌø øøŇ²ÍøŐ °ø¿ÊÆøø. £Áø, øøøŐ £
øÌÁøŃø. ¿ಂ¿ŁøİÃ ÆÒÍ øಂøÎøøø. ¢Îø £ ÑÈÉÁøŃ øøÃøŃø
ªಂøÁøħ ÆÌøÁøøŇ²øø. ¤Îø Ñಂø 6.15øħøøÃøŃ ಒಂø Æøı ¢ಂ²øø
øãøø. £ ¢ಂ²øÉ ø.ø.øãøÉøŃ ¤ÎÃ µÌÃ ÎÌÃ²ø øøøāøøÎ ø.ø.
¿ಂøøŎãø. ¢øã ¢ಂ²øÉøŃ ¥¿ ಒಂø øŀಂø øø Ïøā ±øãøø, øŁøø
øøā øÌ° Ò¾ ÑಂøÉ øøøŎø. ¤ø £øøŎ Ñಂø 6.54 øħ. ¤ÎÃ
øŁøø ø¼āøŐ øãøÉÎø ¦ÄøãøÑø Æøøøøøã ¢ಂ¿ ÃÈŖ Ñøāø
ÎøãÌø øãÍÆøø. øä øøā £ øøø ¥¿ Ñø øøøŎø. ø.ø.øãøÉøŃ
¢ø ø¼ øøøā £øø. Ãಂ¿Ê ÃÃŐ °øŇøÊ ¢øŃøã øäÆø øøø øãøøŎø.
¥² øäÆø øø ¦ÄøãøøÎÎÊ ¬øಂøø Æøĩ ø±ø ¤øøø
°øĳÉøøøಂÁ £ øäÆø øøÉøŃ ¥¿ øøŁ 7.12øಂÁ 7.43 Ê Îøø ¤øŎø
ø±øøø. £ ÑÈÉÁøŃ ¤Îø °øøøøÎ ¤øøãø²Í ÑÈÉ ø¼
ø±øøø ¢ÁøŐ ø·ø ÄøøøŌøŎãø. Ãಂ¿Ê øøÃøŃ øøŁ 8.08 øħ
ª.ø.ªಂ. øಂÁ Ò¾øŁøøøŎø. ¢ÁÊ Êøãøø¼ ¤ø. ¢øøã ª.ø.ªಂ.Ã ø.ø.
øã.øÉøŃ ÑÒ ¤ÎÃ ø·ø ø±øøøøÁøŐ ÄøøãøÑÆøø. Ãಂ¿Ê
¢øŃøã øãøø ಒಂÁÊøŃ øಂø øಂø øø øøø, øøŁ 8.42 ÊøŃ øŁøø
øøā øÌ° Ò¾ øÎøøøŎø. Ãಂ¿Ê øøøಂÁ øÊø ÒøŌÊÁ øø
ÆøøıøÃøŃ Æø ÒøŌøŎø. øøŁ 9.06øħ Æø øøø øøøøಂøøÎ ø±ø
¤ø. øøŁ 9.58øħ øøãÑøಂÁ øãø Æಂøø. ¥¿ ø¼øã øøãø øıãÐøø
ÆಂøøŎø. ¥ ªøø±ø²ÍøŐ Äøøãøøøø ÃÃŐ °øŇøÊøÁøøãø ¢ÎÊøŐ
øø²ø ø¼øãøø øŁøāøøŌãø øÎø £Ãø” ªಂø øãø øø¿ø
¢ಂ·øø¿.
“øãø «ø øãøŌãÊ Ñøāø ÎøãÌøã” ªಂø ·øĮ øøãÆø øãøÁø. £²

Ñøāø ÎøãÌø “øÎø £Ãø, ¿ಂ¿ŁøİÃ ÆÒÍ øಂøÎøøø ªಂøÁøŐ
ಒøőøøńøŌãø. °Íń ø°ÊøŐ, Îಂµ°ÊøŐ °ಂø øøÉø ÆÍøø ÆಂÁ ¥
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